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Note : Attempt all questions.

T A Y AT R |
Graph paper is required.

|/ FEer () Yeperet F vam &Y argAfa E R
General Instructions : Use of calculator is not permitted.
(i) v wEE 1 W 99 @ve ¥ @vs () A sglaweda v, 908
(&) ¥ fa vl Y 9 @os () H vesTEa ke e
Y% YT T 1 3k e ¥

Question No. 1 has three parts. In Part (A) Mulitiple choice
questions, in Part (B) Fill in the bianks and in Part (C) Write

true /false are given. Each question carries 1 mark.

(i) Y FUIE 2 ¥ 6 7% AfqgSag T ¥ | TAE TH W 2 3%
ifed ¥
Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.

S-2A+ P.T.O.
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(vi)

[2]

T FHiF 7 @ 10 T Sfaagseiy w1 €1 wde 99 W 3 3w
aife € |
Question Nos. 7 to 10 are very short answer type questions.

Each question carries 3 marks.

Y HTF 11 ¥ 14 TF AYETHT W § | T W § o
fohed ¥ | WOF U W 4 i eifed § )

Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
W I 15 Tol 16 THSTIA ¥ § | Wl W § Aiafier fasheg
¥ | 7% T W 5 3 eifem ¥

Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 5 marks.

(vii) WETShHEE 17 T& 18 EE3ad WoT § | Wl woa ¥ iafies faereq

¥ | W We W 6 3 arrdfea ¥

Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

W-1

(@uz-31) Wt faew g7 farfle -

(Part-A) Choose and write the correct option :

(?)

A P(x) = x2+3x+ 2 &, A P(3) FT HA &0 : [1]
(a7) 3
(7 9
(/) 18
(?) 20
If P(x)= x2 + 3x + 2, then the value of P(3) will be :

(a)
(b)
(€)
()

3
9
18
20

S-2A+



[3]

(if) = Tl x2 - 2x + 1 = 0 ¥ fafera o 99 g [1]

(iii)

@v)

(s 0

(7) 1

(9) 2

() 2

The value of discriminant of quadratic equation x2~2x + 1 = 0 will be :
(@) O

@ 1

(c} 2

@ -2

fog (3, -5) fra sguta A €m ? [1]
(87) wum Tguts

() fita wgate

(%) e =gata

(3) =gd =quia

Point (3, —5) lies in which quadrant?

(a) First quadrant

(b) Second quadrant

(¢) Third quadrant

(d) Fourth quadrant

c0s30° x sec 30° %1 A B : [1]
(301
(? 2

(W 3
() 3

S-2A+
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The value of cos30° x sec 30° will be :
(@ 1
b)) 2
(c) 3
@ 3

(v) 2T S 3,000 & W an IUHT 3% T = F W - [1]
() 900 %.
(F) 90°.
(¥) 300%.
(3) 30%

What will be education cess at the rate of 3% if taxable income is
Rs. 3,000 ?

(@ Rs. 900
() Rs. 90
(c) Rs.300
(d Rs.30

(Tve-7) fiaq @i =t gfd wifeg .

(Part-B) Fill in the blanks :

() (\/5+1)aﬂt(\/5—1)-ommmw ¥ [1]
The arithmetic mean of (\/E + 1) and (\/5 — 1) 18

——

(i) 4,7,8 F1aguiTawt 7 [1]
The fourth proportional of 4, 7, 8 is

(5i7) 99 9 gaQ Wt < Tt ¥4 - [1]

The longest chord of a circle is

SQA+



(5]
(v) sin(90°—639) M AR _____ T ¥
The value of sin(90° — 63°) is
(v) Af vl e add_ darR
The sum of two odd numbers is always
(@US-H ) T 3¥a dE fafay

(Part-C) Write true or false :

() @f ot wwEw g ¥

Squares of all sizes are similar.

Gi) T Tag & i (x, y) TAE|

The coordinates of origin are (x, y).

(iif) ST Toroan At Tiie <1 STFaH %w TR ¥

The volume of sphere with unit radius is i“ cubic unit.

3

Gv) % § @ dren % T PAN 1 81 Sifar €

To open an account in a bank PAN is must.

(v) A =g F =R Fo TEE 2, q T&E H60° Fm

(1

(1]

[ 1x5=5]

If all the angles of quadrilateral are equal, then 60° is the measure of

each angle.

H T T C?S55 +sm35
sin35°  cos55°

cos55°  sin35°
sin35°  cos55°

Find the value of :

g (3+x): (5 +x):(8+x)€1,ﬁx$lﬂﬁaﬁﬁ-ﬂ'ﬁx’ﬂ{|

If (3 +x):(5+x): (8 +x), then find the value of x.

2]

{2]

S-2A+
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U¥-4  3x2-5x+2=0% Tcl &I GRS TE OB F1d HIFAT [2]
Find the sum and product of the roots of
3x2-5x+2=0
WyT-5 U9 <N Wigha et #1 iad 3| wifew ) [2])

Find the average of first ten natural numbers.

w-6  fag (2, 5) w A fog @ 38 W i (2]

Calculate the distance of point (2, 5) from the origin.

-7 S RN R (407 + 322 + 2x - 9) N (x — 1) B 9T W W IwFA YA

i [3]
Prove that on dividing (4x> + 3x2 + 2x — 9) by (x — 1) the remainder
i§ zZero.

W8 v HteRu 922 — 3x — 2 = 0 ) &A HfeQ [3]

Solve the quadratic equation 9x°—3x—2=0.

-9 g FifT f feedl i e T el wAm e m s v e 1 [3)

Prove that the sum of three consecutive even numbers is always a

multiple of 6.

W-10 T gty S & YR &t ufifyy 88 A, &) afe oem 3t S 10 o). &
3 ST T A T T (3]

The circumference of the base of a right circular cylinder is 88 cm. If the

height of the cylinder is 10 cm, find the volume of the cylinder.

gv-11 2 {el. o At 64 TiferEl i fusen 2w w1 viten s T 92 T #
oo wma =i (4]

A big sphere is made by melting down 64 small spheres, each of radius

2 cm. Find radius of the big sphere.

5-2A+



Ue1-12

U9-13

%1
OR

2f T T F SR A 12 . qe S 8 T 3, o vig = T 7
3iR evrE I AT |

If diameter of the base of a cone is 12 cm and its height is 8 cm, then find

the total surface area and volume of the cone.

= woft Y wifeaeR I HIET 4]

=T 0-i0 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

g 1 12 24 32 10 5

Find the median of the following table :

Class Interval | o-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Frequency 1 12 24 32 10 5
yerar
OR
iR WROR F SEAF A HIAC

= o-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

sngfa 4 5 16 12 3 2

Find the mode of the following table :

Class Interval | o_19 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Frequency 4 5 16 12 3 2

g AR o R Pt ot w1 A 2 gl & e 3 A
¥ AU e ¢ 1’ [4]
Prove that—“In a right-angled triangle, the square of the hypotenuse is

equal to the sum of the squares of the other two sides.”

S-2A+
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¥ 1-14

¥ =15

[81
OR

T o9 Ft firem 20 I %lfﬁwaﬂimﬁ\mﬁﬁwﬁa‘eﬁgﬁm T,
? 1 ftan =) o T i)

The radius of a circle is 20 cm. The distance between two equal and parallel
chords is 24 cm. Find the length of chord.

SH TS T H G g FG Rty % & 7o Y@ fag (6, 0) @
BT S }
Find the equation of that straight line which passes through the point (6, 0)

and whose slope is %

3rerar

OR
T s 3 1ot Mg § 5 TR Tt sarn | ot fedi A 9 3 e 9 amn
aﬁﬁaﬁﬁwiﬁmwuﬁﬁzmw%: |
fas 1 2 3 4 5

TS U I Wt (S d )| 4 3 2 1 0
ﬁ@@aﬁwamﬁﬁm%qwmm|
A man filled 5 liters of petrol in the fuel tank of his vehicle. The table

below shows the five days and the petrol remaining on those days :

Day 1 2 3 4 5
Quantity of petrol remaining (in liter) 4 3 2 l 0

Draw a graph between the petrol remaining and number of days.

FHM 7 GoG AeA §F F 200 ®, iR WA 5 af & fou st s
T G | A =47 Y 2T 6% i &), 5 99 w¥E 3 TRl et v
iU

Vasim opened a recurring deposit account in Punjab National Bank. He
deposits Rs. 200 per month for § years. If rate of interest is 6% per annum,

find the amount he will receive at the time of maturity.

(4]

(3]

S-2A+



@

OR

Sy T 2013-2014 3 TF WG FHHAR F Fol AMF 3T 3,60,000 T. At
ST 20,000 T, Sha <mn wiferelt 1 st fTm qe 4,000 %, YiwE FEA
sferss fafiy & s Foen 81 3fE w0t el g W tfersha WA 1,00,000 %

% o % AR H AT FHIfA |

TR @ X FEER R
. T Qg W ATIEHT &t T
1. 12,00,000 % a6 FIE IR TEH
2. 12,00,001 % @ 5,00,000 %. T 10%
3. 15,00,001% & 10,00,000 T. TF 20%

=5 S, 27 STHE 1 3% FHen ST o 7|

The income of a government employee in financial year 2013-2014 was
Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurance
policy and Rs. 4,000 every month in General Provident Fund. If a maximum
of Rs. 1,00,000 can be invested in any type of saving to qualify for tax

rebate, then calculate the payable income tax.

The rates of tax are as follows :

Sl. No. Tax Limits Rate of
Tax
1. |UptoRs.2,00,000 NIL
i Rs. 2,00,001 to Rs. 5,00,000 10%
3. |Rs. 5,00,001 to Rs. 10,00,000 20%

In addition, a 3% education cess has to be paid over the income

tax.

P.T.O.

S-2A+



[10]
WE-16 T BIYS POR 1 T i) W & o SR B 4BC Y o i,
o AB:—32-PQ # [5]

Construct a triangle PQR. Construct another triangle ABC along with it in

such that 4B = %PQ :

Heqr
OR
Y ABC % 9ftm 9u 9 = Fifm, frad 4B = 6 ¥, 24 = 45°,
ZB=60° ¥ = % 4g +ff fafgu)
Construct a circumcircle of AABC, where AB =6 cm, L4 =45°, /B = 60°.
Write the steps of construction.
WF-17 1 TR AR % T AES A S, S, S, ¥ |9 g A v vem
T 1 T AR HW: 1, 2, 3, @ o #fe fr
S, +8,=28, [6]
Sums of » terms of three arithmetic progressions are S;, S,, S, respectively.
If first term is 1 for every progression and common differences are 1,2, 3
respectively, then prove that S, +8,=28,.
srerar
OR
ﬁaaﬁqﬁﬁﬂmﬁiﬁaﬁmaﬁﬁweﬁlmaﬁmﬁﬁaﬂgﬁ%ﬁ
Ht Y 1 T G R | 3G T A QT # A o @ s
3 years ago, ] was three times as old as my son. Ten years hence, I will be

twice as old as my son. Find my present age and my son’s present age.

wW-18  foag wifs

cos0 sin(90°—0) ~ 20t (90°—6)
5ec(90° —0) +1  cosechd — 1 6]

S-2A+
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[6]

]

(11} !

Prove that 1

cosB sin(90° —0)

~ = 2cot(90°—0)
sec(90° —0) +1  cosecd —1

srerar
OR

Wwﬁ@wﬂsmmsﬁmﬂg%mﬁetﬂaaﬁqﬁwwﬁaﬁw
%) 7z e A Q@ 60° F Hi I § 1R I F A W A

A tree breaks to storm and the broken part bends so that the top of the tree

touches the ground making an angle 60° with it. The distance between the ,
|
foot of the tree to the point where the top touches the ground is 6 meters. 1
1
1

Find the height of the tree.

......................

S-2A+
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T YR L AT & |
Graph paper is required.
amr= et . (i) oot ¥y @ gl T ¥
General Instructions : Use of calculator is not permitted.

(i)

wo TR 1 A d e § 1 ave () A sglawedia v, @S
(&) ¥ figa Tl &t 9ff a1 @vs (F) Y weaysray feg g ¥
% W W 1 37 afea ¥

Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write

true / false are given. Each question carries 1 mark.

(iii)mmzﬁewmawﬁqmtlmmmzm

areifea ¥ |
Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.

S-2B+
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(2]
(iv) W FHIE 7 | 10 o AfaTEaid wvA § | lE WE W 3 iF
arifen €1
Question Nos. 7 to 10 are very short answer type questions. |
Each question carries 3 marks.

(v) W HHIF 11 | 14 T TR T § ) TS 1\ § o
fahe & | W% W W 4 30 aefea #)

Question Nos. 11 to 14 are short answer type questions. Each

question has an internal choice. Each question carries 4 marks.
(vi) TR HHF 15 T 16 AYSTAE WA § | W2AF W 7 aiafian fawed

R v@F 3 R 5 9i syfea ¥

Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 5 marks.
(vii) T 9 17 T& 18 De390g v § | vols v A apiafs e
%1 7 W R 6 3T et €

Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

-1

(WUE-37) wEt fawew T fafau -

(Part-A) Choose and write the correct option :

() R P(x)=6x2—5x+ 1 8, A P(1) 1 9H &0 : [1]

(sn 1
(¥) 2
(9) 5

(R 6
If P(x) =6x* - 5x + 1, then the value of P(1) will be :

(@) 1
(b) 2
(c) 5
(d) 6

S-2B+




(i)

(3]

i TR X2~ 3x +2 =0 fafersas % AF B [1]
(3 1

(%) 2

(®) 3

(3 -1

The value of discriminant of quadratic equation x2— 3x + 2 = 0 will be :
(@) 1

) 2

© 3

@ -1

(iti) g (-1, -3) form wgafer & € 2 [1]

()

(37) wuwm Tguta

(%) fiefa =gata
(%) g =gt
(3) =gy =qute
Point (-1, —3) lies in which quadrant?
(a) First quadrant
(b) Second quadrant
(¢) Third quadrant
(d) Fourth quadrant
tan 30° x cot 30° F1 HH BN : [1]
(a1

1
(a)—ﬁ

(A 3

() 1
3

S-2B+
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[4]
The value of tan 30° x cot30° will be :
(@ 1

i
py —
® NG
(c) \/§

@ L
3

) of Tray T ST H S O RO SR W W R, A At
<! foran s 9ife [1]

(87) T
(%) TH-<hE
(8 IR
(3) T

If in fixed deposit the interest is calculated quaterly, then rate of
interest per annum will be :

(@) half

(b) one-fourth

(¢) four times

(d) twice
(@ves-v) fag e = gfd wifee
(Part-B) Fill in the blanks :

@ (V3+1) sl (V3 1) F wm e 13 [1]

The arithmetic mean of (\/3 + 1) and (\/5 - 1) is | .

(i) 5,6, 10 % agaiIam! 21 [1]
The fourth proportionat of 5, 6, 10 is

(iii) Tt g0 o1 = Swen oo = B ¥ (1]
Diameter of any circle is of its radius.

S-2B+




[5]
(iv) cos(90° — 53°) =l HH T [1]
The value of cos(90° — 53°) is

(v) U o SR uw wn 9@ = S TR e Bt ¥ [1]

The sum of an odd and even number is always

(@|ve-u ) 99 Ayar o7a fafau . [1x5=5]
(Part-C) Write true or false :
(/) Tt wabrem Sgye 9eE ot g €

All congruent polygons are similar.
(i) y-o1 W feorg forelt fomg =1 x-Fridwnias v e &

The x-coordinate of any point on y-axis is zero.
(i) T H 9 B E § )

A cuboid has 9 edges.
(iv) Toim ad 1 e & yRY €9 31 W= o) U e ¥

The period from 1st April to 31st March is taken as financial year.

(v) g agqs & 9ri o1 guF g, dF TAE H07 90° B

If all the angles of quadrilateral are equal, then 90° is the measure of

each angle.
R (1+x): (3+x): (6+x) T, A x H 7H I Q) [2]
Find the value of x if (1 +x): (3 +x):(6+x).

g (3, 4) 7 g fog @ gt 7 ;@) [2]

Calculate the distance of point (3, 4) from the origin.

T T R sec50 + sin 56 2]
cosec40®°  cos34°

sec50° sin 56°

cosec40® cos34° .

Find the value of :

S-2B+
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W-11

[6]
3x2+7x + 1= 0% A F1 AThe W@ IR Fd HIFIT)

Find the sum and product of the roots of
32+ Mx+1=0

W9\ TH 99 S @ o g i)

Find the average of first ten even numbers.

fog T &6 (20 +x2 - 5x + 2) A (x + 2) ¥ T FTA W IEA YA
21

Prove that on dividing (2x® + x2 - 5x + 2) by (x + 2), the remainder

is zero,

T AT AT F AR FY IR 44 9, ¥ 1 3fg I # S 10 A R,
W AT I AT T FIFAC )

The circumference of the base of a right circular cylinder is 44 cm. If the
height of the cylinder is 10 cm, then calculate the volume of the cylinder.

fog ST (20 + 32— (21 - 32 W1 TF TorTEve 8 §, 98T 1 U W GE
71

Prove that a factor of (2n + 3)? — (2n — 3)? is 8, where n is a natural

number.

a1t FfER 6x2 + 7x + 2 = 0 F g FAA
Solve the quadratic equation 6x%+ 7x +2 = 0.

2 §eft. Foromn =t 64 e 1 Resell 2w w11 e w A T4 9 A
oo 9w

A big sphere is made by melting down 64 small spheres, each of radius
2 cm. Find radius of the big sphere.

rqar
OR

[2]

[2]

[3]

[3]

[3]

[3]

[4]

S-2B+




[71]
IS T W & IR 1 AW 12 91, qon For 8 ¥, &, A v+ wyel g
R 3T @ FfC |

If diameter of the base of a cone is 12 cm and its height is 8 cm, then find

the total surface area and volume of the cone.

WPH-12  3H 9IS @1 F GHISH0 T Hifg et gaom % R am @ fag (6, 0) A
Tt ST 1 [4]
Find the equation of that straight line which passes through the point
(6, 0) and whose slope is %
Hgar
OR
T i 3 Tt M H 5 e I e ofe i § a= gu i it
T fe=t @i FrrAifore Tt H enfar T € -
f& | 2 3 4 5
TR FE g H A (e d )| 4 3 2 1 0
T g I A0 e A 6 dem % A s i)
A man filled 5 liters of petrol in the fuel tank of his vehicle. The table
below shows the five days and the petrol remaining on those days :
Day 1 2 3 4 5
Quantity of petrol remaining (in liter) 4 3 2 1 0 |
Draw a graph between the petrol remaining and number of days.
W9A-13 =1 ARt =it wifesn 3@ Fife [4]
T 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60
LG (il 1 12 24 32 10 5
Find the median of the following table :
Class Interval | 19 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 1 12 24 32 10 5
S-2B+ P.T.O.




U i-14

U -15

[8]

OR
f=1 aroft 6t SIgers 91 Hiftae

T | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

agfe 4 5 16 12 3 2

Find the mode of the following table :

ClassInterval | o 19 | 19-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 4 5 16 12 3 2

ﬁmﬁﬁqﬁ—“@mﬁgﬁﬁWGﬂaﬁma sl & 1 & IR
F IR Ea g1’

Prove that—*‘In a right-angled triangle, the square of the hypotenuse is
equal the sum of the squares of the other two sides.”

arerer
OR

T g 1 B 20 B ¥ 1 ) e R wERR Stanedt & oftE # gl 24 9.
| Sife <l T 9 ST )

The radius of a circle is 20 cm. The distance between two equal and parallel
chords i1s 24 cm. Find the length of chord.

T fAS POR 1 W1 ®ifaT | W19 €1 T&F 3R e 4ABC #Y w1 $ifST,
foraH AB:%PQ B

Construct a triangle POR. Construct another triangle ABC along with it in

such that 4B = %PQ .

OR

[4]

[5]

S-2B+
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[10]

The rates of tax are as follows :

Sk No. Tax Limits Rate of
Tax
1. |UptoRs. 2,00,000 NIL
. Rs. 2,00,001 to Rs. 5,00,000 10%
3. |Rs. 5,00,001 to Rs. 10,00,000 20%

In addition, a 3% education cess has to be paid over the income tax.

WeA-17 o SRR AT 3% 1 9@l % A0TRA HE: S, S,, S, € 1 AR W 4 1 gem
g 1 997 Al HE: 1, 2, 3 ¥, @ fas wife fe
S +8,=25, [6]
Sums of # terms of three arithmetic progressions are S, S,, S; respectively.
If first term is 1 for every progression and common differences are 1, 2, 3

respectively, then prove that S, + 8, = 28§,.
Hear

OR

yta o qd 3 g W Y g I RATH ot | g o v A g WA
=1 oy Y g & w3 7 WOgH F A g T F

5 years ago, I was three times as old as my son. Ten years hence, I will be

twice as old as my son. Find my present age and my son’s present age.

wH-18  fag sifse f®

ciose sin(90°—0) _ 200t (90°—6)
sec(90°—0) +1  cosecd —1 6]
Prove that
cos0 sin(90° —0)

S = 2¢ot(90°—0)
sec(90° —0) +1 cosecd —1

S-2B+
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Srerar

OR
AT A L & U8 71 Faw g T g & 0g | 6 {1 W 0 F g
¥ 1 7% feem wiA [ 60° w1 0 = ¥ 1R U w1 Sawd 3@ Ffw)

A tree breaks to storm and the broken part bends so that the top of the tree
touches the ground making an angle 60° with it. The distance between the

foot of the tree to the point where the top touches the ground is 6 meters.
Find the height of the tree.

S-2B+

1,580,000
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TE T R S 18] [F gfea gt @ ¥ - 11
Total No. of Questions : 18 ] [ Total No. of Printed Pages : 11
J-201100-C
fawa : wifora
Subject : Mathematics
TG : 3 WU | [qui= : 75
Time : 3 hours | [ Maximum Marks : 75
ez : At we v it
Note : Attempt all questions.

WF TR} AEHA ¢ |
Graph paper is required.

= FET : (i) TPt % YA Y SgEf TE ¥

General Instructions : Use of calculator is not permitted.

(i) WA FHE 1 ¥ 9 wvs | @vs () % Jgfameda vE, @8
(&) ¥ fega T 1 g aon wve (W) § weyewe fag e €
Tl W9 W 1 3 Asifed ® |

Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write

true/ false are given. Each question carries 1 mark.

(iif) W I 2 W 6 TF IMAAIITIT T € | Y WA W 2 I
Eifed ¥
Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.

S-2C+ P.T.O.



(v)

v

(vi)

[2]

Y %I 7 10 T Afegeaiy TH €)1 7@ ¥ W 3 3
areifea ¥ )

Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks.

Y FEE 11 ¥ 14 T AgSTdd T ¥ ) vl w9 ° ol
fahcg & | Wi Y W 4 3% avefeq €1

Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
¥ I 15 T 16 ST 99 § | Wi WA | St fasey
? | TOF T W 5 3 eifea )

Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 5 marks.

(vii) T HHIH 17 To 18 LEIWE W € ) 70+ T § Aiaftes fammed

¥ | U0 W W 6 3k Arefea ¥

Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

Ue1-1

(m—a)vﬁﬁmwﬁm:

(Part-A) Choose and write the correct option :

() I Px)= 2x2—3x+6 B, T P(2) F AE BN : (1
(31) 4
() 6
(9) 8
() 4
If P(x)= 2x?-3x + 6, then the value of P(2) will be ;

(a)
(b)
(©)
(d)

4
6

8
-4

S-2C+
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[3]
1 THHT dx2— 4x + 1 = 0 F fafqeret =1 96 g - [1]
(31 0
(@) 1
(T 2
(?) 4

The value of discriminant of quadratic equation 4x2—4x + 1 =0
will be :

(@ 0
® 1
() 2
(4 4

(i) fog(-2,4) fra sgata A Sm? [1]

(37) ww gy

(%) fadita wgaty

(¥ et =gt

(®) g wqafw

Point (-2, 4) lies in which quadrant ?
(a) First quadrant

() Second quadrant

(¢) Third quadrant

(d) Fourth quadrant

(iv) sin30° x cosec30° % W SR : (1]
(a0 1
() 2
(7 -1
(D) -2
S-2C+ P.T.O.




[4]

The value of sin30° x cosec30° will be :

(@) 1

b 2

(c) -1

@ -2

) ﬁmmmﬁmﬁmazmﬁwmﬁw%ﬁaﬁh

X ) ot s =nfew - [1]

(37) I
(@) farm
(Q) 3mE
(%) IR

If in fixed deposit the interest is calculated half-yearly, then rate of
interest per annum will be :

(@) double
(b) three times
(¢) half

(d) four times
(ame-) fo i A o A
(Part-B) Fill in the blanks :

(i) (\/§+1)aik(\/§—l)wwmw 3 [1]
The arithmetic mean of (\/§+1) and (Jg-—l) is }
(i) FCa: b:c B, A AALIM g [1]

If @: b: c, then the mean proportional willbe ____.

(iii) aqaaaﬁm@%%,aﬁwaﬁ___mé‘l [1]
Two circles are congruent, if their _____ are equal.

(iv) tan(90° ~33)HIEM ____ B ¥l [1]
The value of tan(90° — 33°) is

S-2C+



[5]
(v} 99 el w1 W wiy EcHE

The sum of two even numbers is always

(WU=-W) 94 AYa1 19 fafay :

(Part-C) Write true or false :

() W FAEHET TR T

Circles of all sizes are similar.

() x-318 R fem e fog w1 p-Mvs @ em &
The y-coordinate of any point on x-axis is zero.
Gii) WA 7 B A F
A cube has 7 edges.

(fv) a1 H I T T T |

Service tax is an indirect tax.

(v) ot Frge & < ypomeil ot 9 el o A ST SR B

In a triangle, the sum of any two sides is less than the third side.

AR (2+x): (4+x):(5+x) 8, W x F TH J1d Q|
If(2+x):(4+x): (5 +x), then find the value of x.

e <9 fawy densil #1 siea 3@ Fifsw

Find the average of first ten odd numbers.

fg (6, 8) i @ fag ¥ T 3@ Ml

Calculate the distance of point (6, 8) from the origin.

"ﬂ?iﬂﬂw: tanls n sin31
cot75°  cos59°

tan15° " sin31°
cot75°  cos59°

Find the value of :

[1]

[1]

[1]

[1]

{1]

[1]

[2]

[2]

[2]

[2]

S-2C+

P.T.O;
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-1

[6]
X = 5x + 6 =0 % TE 1 ATEA TE TOATES FA FHAC )

Find the sum and product of the roots of

xX-5x+6=0
fag FACRF (27 + 4H7 + 3y + 1) B (y + 1) § W FA R A967 YA
7l

Prove that on dividing (2)® + 47 + 3y + 1) by (v +1) the remainder

18 Zero.

fag FR for fReel <) o e sl o1 2 g9 4 1 IO S g

Prove that the sum of two consecutive odd numbers is always a

multiple of 4.

T g e % SR ufkfy 22 A, # ) afk S = S 10 9.

Al A T AT 0 FC |

The circumference of the base of a right circular cylinder is 22 cm. If the

height of the cylinder is 10 cm, calculate the volume of the cylinder.

o1 eI 3x2 — 11x + 10 = 0 1 €& I

Solve the quadratic equation 3x°— 11x+ 10=0.

ww%@mmaﬁmﬁﬁmﬁwg%ammﬁa
(6,0) A B IA 7| ‘

Find the equation of that straight line which passes through the point

(6, 0) and whose slope is ~7—

OR

(2]

[3]

[3]

[3]

[3]

[4]

82C+
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[7]
T st X T T 5 oitet g v ot el A 5 g 9 A
7 fedl ® Freifera grooft W i T R
fa 1 2 3 4 5
T g AR aE (R F) | 4 3 2 1 0
9 g A3 = A aen el o wem % we e wita

A man filled 5 liters of petrol in the fuel tank of his vehicle. The table

below shows the five days and the petrol remaining on those days

Day 1 2 3 4 5
Quantity of petrol remaining (in liter) 4 3 2 1 0.

Draw a graph between the petrol remaining and number of days.

fog Fife fF— 7w quR fe § wot ot 9w < spnadi % &t % A
FaEREAM " [4]

Prove that—“In a right-angled triangle, the squére of the hypotenuse 1s
equal to the sum of the squares of the other two sides.”
qar
OR

@gﬁﬁﬁwzoﬁﬁ.%lﬁwaﬂtmﬁﬁmﬁ%ﬁ?ﬁqﬁuﬁ.
3 | sfen Y e T FAAC

The radius of a circle is 20 cm. The distance between two equal and parallel
chords is 24 cm. Find the length of chord.

= wrof i wifereR I I - [4]

T 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

agfa 1 12 24 32 10 5

Find the median of the following table :

Class Interval | o-10 | 10-20 | 20-30 ' 30-40 | 40-50 | 50-60
Frequency 1 12 24 32 10 5

S-2C+

P.T.O.



¥ 1-14

q¥1-15

[8]

OR
7 woft =it ager 9@ Fif

wR | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | s0-60

gy 4 5 16 12 3 2

Find the mode of the following table :

ClassInterval [ o1 | 1020 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 4 5 16 12 3 2

2 9ft. o wiTet 64 wifert Y fireren 9 T w1 e o T 9 e %)
o 7 wifog |

A big sphere is made by melting down 64 small spheres, each of radius
2 cm. Find radius of the big sphere.

srerar
OR

AR T AF U oA 12 Fh, e S 8 A, 2, A vig v vy
SR 3T W A

If diameter of the base of a cone is 12 ¢cm and its height is 8 cm, then find

the total surface area and volume of the cone.

@WPQRﬁ‘mmlmﬂﬁwaﬂtﬁﬂﬁABCﬁmm
o AB=§—PQ I

Construct a triangle PQR. Construct another triangle ABC along with it in

such that 4B = %PQ :

[4]

$-2C+

-



[9]
arerT
OR
B ABC % it o9 F1 T Fifwe, i 4B = 6 Wll, L4 = 45°,
/B =60° % 1T & w2 ot fafae)

Construct a circumcircle of AABC, where AB=6 cm, LA =45°, LB= 60°.
Write the steps of construction.

TF-16 S Yt e dF § 200 5. YREE F R A 5 A F foe st s
e et | AfE =S H 6% ik Y, a5 o TR I e wut s
gl ? [5]
Vasim openéd a recurring deposit account in Punjab National Bank. He
deposits Rs. 200 per month for 5 years. If rate of interest is 6% per annum,

find the amount he will receive at the time of maturity.

arerar

OR

foefta 9§ 2013-2014 T TF WEHE HH=M FT FeA AM4H 374 3,60,000 T. A |
3T 20,000 . S S Wiferd 1 afti W q9r 4,000 %, JiaAE WHA
sifersy firfer 3 ot fapan 3 o Toft sl W ge Y S3fercRas wien 1,00,000 %
¥, Q2 AT I TOAT FfC '

AT 1 T FETTER € o
#. wAAE HEE Tl
1. {2,00,000%. % g AFFT TR
2. 12,00,001 % & 5,00,000 % TF 10%
3. 15,00,001% @ 10,00,000 . T 20%

7% SR, 37 ST 1 3% faen ST A g 1

The income of a government employee in financial year 2013-2014 was

Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurance

S-2C+ P.T.O.



[10]

policy and Rs. 4,000 every month in General Provident Fund. If a
maximum of Rs. 1,00,000 can be invested in any type of saving to qualify

for tax rebate, then calculate the payable income tax.

The rates of income tax are as follows :

Si. No. Tax Limits Rate of
Tax
1. {Up to Rs. 2,00,000 NIL
. {Rs. 2,00,001 to Rs. 5,00,000 10%
3. |Rs. 5,00,001 to Rs. 10,00,000 20%

In addition, a 3% education cess has to be paid over the income tax.

w-17  Tag #ifve e

cosB n sin(90°—0) _

S 2cot(90°—0)
sec(90° —0) +1  cosech —1

(6]

Prove that

r:;ose sin(90°—-0) = 2c0t(90°—6)
sec(90° —0) +1  cosech —1

Hear
OR

A T&1 | T2 TF U3 F1 F0 goh W U5 & g B 6 WX+ gt W ol = g
¥ 1 g% fewm 9A @ 60° =1 01 TR € 1 QAT B SHE T FoW

A tree breaks to storm and the broken part bends solt'hat the top of the tree
touches the ground making an angle 60° with it. The .distance between the

foot of the tree to the point where the top touches the ground is 6 meters.
Find the height of the tree.

S-2C+ Y
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[11]
A gaR Al F p o F devhe w5, S, S, ¥ 1A @ 4wy
g 1 T WA HAE: 1, 2, 3 ¥, 9 fag wifag fe
S, +8,=285, [6]
Sums of » terms of three arithmetic progressions are S, S, S, respectively.
If first term is 1 for every progression and common differences are 1, 2, 3
respectively, then prove that § + 8, =28,
3rear
OR
otg o i 48 g W g A g A g o) 7w O weEe o o WG
1 3G A A @R | H 7 A GF F FAHE A 6w
5 years ago, ] was three times as old as my son. Ten years hence, | will be

twice as old as my son. Find my present age and my son’s present age.

S-2C+
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